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For the following problems, we use the approximate value for acceleration due
to gravity g = —9.8m/s® (or g = 9.8m/s?, depending on your coordinate system).

(2) A ca‘ble hanging over the edge of a tall building is 40 meters long and weighs 60 kilograms.

How much work is required to pull 10 meters of cable to the top of the building?
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(3) A 5-kilogram bucket containing 10 kilograms of water is lifted f1 om the g10und into the air
by pulling in 20 meters of rope at a constant speed. The rope weighs 0.08 kilograms per

meter. How much work was spent lifting the bucket and the rope?
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